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TV LB LRI LE Y é AL 1
(%, -%)x, (124-35)x %,

56
Num. ¥, +"% x7/,x7/, =3 : M:
Deno. 45/56x2/3=‘5/28 ,
W, x B =147/, Al
9 1470 7056 _ Ml [147¢ =2x735
735 | 5228 =2x3 245
2 1 11764 =2x3x5%x49
2 1 882 =2x3x5x7x7
2 | 441 =2x3x5x7
3 735 | 441 |

3 1 s 147 B1 - | 70%6
s | 49 |49 =3528x%2
2 | 4 . =2x2x1764
" \ i =2x2 2x882

=2x2x2x2x441
1470 =2x3x5x7x7 = EREnCEnan LM
=2x3x5x 7 =24x3x3x49
’ =94y 32 )
7056 =2x2x2x2x3x3x7x7 2x3¥x7xT
=2ty 3x T2 =2x3¥x 7
1470 =  2xPxex7T AL b

) l705'6 3x52x7?

= 3 x5x7 Ans.
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9t - 2532

Qi) - (5ay

6t + 1%at + i5a?

6t2 + 9at + 1 a: + 1522

Bl
M1

= (3t+5a)(3t-52) = 3t-5 Al
(3t +5) (2t + 3a) 2t+3a

I ey A, e nmm-«w'-i

6x = 360°

X = 60°

(180 - 60) n = 360
120n = 360

a=3
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-
3 = 3/, PS
But PR =_-> PR : i
, -
5, PQ= 3P§
—> - :
PS = 5/7 PQ H\'ﬂﬁ
,PS,=5/X8="°/ P»
1
_9 %
But RS = ¥ps
| S| =2,x Al
- ? = a1
ok Bl
\
M1l4:
Sin(90-x) = Y,=Y,
tanx BC
AB
= 0.75 Al
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8 _ m=mm=%.x"/,

9, : w=mw=%x%/,

= =3 2y
m=wm="°/x%,

¢ w=ww=3% x?,
MM =7/,
MW =¢/

Bl

Mi

e Sl o

WM =/,
VW =4,
a) P(ram or ww) = P(mm) + P(ww) Al
= Y, +5, =% Ans. A ’
b) P(MW OR WM) =P(MW) + P(WM)
= “ 0T y/ 20
= Y Ans. 5
9. LU= lem °q
AE 05 : NET
; :L-.,}mir: Wiame3.5nd4.5 | ! i
Limi's 6 are .5 503 6.5 i
Min. 'rea =/ x3 8«5 F ; §
s ?: §) '. -._1 ”
| o |
‘ JAres - H ] x
'h' O e———— —— - —_——a == h?‘_):\'l' e : — e e
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Workig Area - Mm Area=12-9.625
= 2375
Max Area “ Working Area = 14.625 -2
=2.625
~ Absolute Errorin Area Ml
' =2.375+ 2é25
. >
=25
b) % Error= A.E x100
AM
= 2.5x100=20"7% . ’ Al
12
10. P2=(p-q@P-1)
P2=P>-Pr-Pq+qr - Bl
=-Pr-Pg+qr
Pr+Pq=qr Ml
P@+q =qr
P= qr - Al
q+ 1-,.".;,
1. 7y-3x+30=0 Bl
Aty - intercept the valueof x=0
Therefore 7y =-30 M1
y = '30/7 = -42/1
The coordinates are (0, -4/,) Al
" -
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12.

Area A"*—?Tr2 i
= 2/ x42k4.4
= 55 44cm2

AreaB —*erh %Y, _

=7/ x4. 23150 !
_ ’ 19800m2 i___‘ SLI—

“AreaC="2x42x 150+ — —

:1260cm2 o
Total Area = 55.44 + 1980 + 1260
= 3295 44ch2

| B1

7

[ AL -

b g e i oh
=%, x42x150+2/ x
42x%42+2x42x150 |,

.Ml

M1 |

T
REL AT REY if

T -Anlééofcylmder'

wut

# o= 3295.44““2 SO

13. A=

fl
I8

Mdmht 'AB=T =E‘l§ V1Y, 2tz

} 2 i B2 2 ]
[1

+x % y-1 1+i': (2,0,15)
2 { z2 A Kb

Ao X=3y=Fandz=2%

i Al

Ml

B1

B T
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14. )
a) 12sin 30°= 12)&‘/2 Al T
. =6cm L
|
<ADB= 6 3
8 = 6
SnD  Sin45° Ml 1
SinD =8sin4.5 J
6 ) ’ :
: ¢ ! v i
= 70°30' Al \
.
15. ) ~ I=PRT ops
| 100 ;
s !
=% pX2XP 3
=0.1p i '
H A  =P(1+0.057 ML | f
=1.1025p ; :
Interest = 0.1025p
Difference in interest =0.1025p - 0.1p " M1 :
210 =0.0025p '
Therefore P= 210 = 82,000/= {
0.0025 Al
6 - )Gdt = fas-90)d Bl 1
=25t-3t+c ;
4=25t-3t+cwhent=0 ML ——— 1
4=c¢ ;
Hence V=25t-32+4 . . - _ Al
b) V=25x2-3x2*+4 Al
= 50+4-12 '
=42ms" )
/
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17  The speed of the car is (x + 20) km/h

Timetakenbylomy =2/ hrs.
Time taken bythecar =2/ _ hrs

B | : ; j
ML

oy =7
280 (x+20) - 280 x = 7, .
x(x+20) $
7x*+ 140x = 33600
x+20x 14800 =0 " 2
X2 - 60x + 80x - 4800 = 0 ML
x(x - 60)/+ 80 (x - 60)= 0
(x-60) (x +80) =0, == el
x="8Q6rx =60 Al
b) Time taken by the lorry =12.15 Al
= 4 hrs
Distance covered by lorfy =speed x time
=60x4 M1
. =240km n
Time taken by ihe car= distance = 240=24 hrs. M1l
‘ il"ime _163
TimelefttownM = , 12.15-2hrs 24min
i % gstam Al
'18.
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| ~ Hence QR +}.QT :

s
a) PS=-PO+0S Ml Qs commion peint ‘
=-2p+3r Hence QTR are Collinear | Al
e '
=3r-2p b)ii) QT : TR
=5 6’?‘= (1<, p
OT =Y, 08 +, OP ?R=5'?4§0R~ -
=‘/,x3~r+°/.,x2;l « Al - ~_:79&+r
=+ P = T-Yp
QT=QP+PT Henoe(ff:"l?k ‘
=-1/,(3p) + 1/7 (3t - 2p) e —%,p 4, - p
=3.r-I.p => 3/71::/7r~ | b
e Al 3:4 OR
b)i) QT=%,5-%p_ 5], p: -, p
. QR=r-3p 34
QR HQT if QR=KQT Hence QT:TR'=3:;_ Al
1-3p=K(°.r-",p) M1 : \
M
k=7, ,
Also-.}g=-%pk
k=",
19. Crosssectionalarea=%bh+1xb | Bl
=‘/;x25x1.8+25xl M1l
= 47.5m?
Volume=47.5x 10
= 475w’ Al
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bi) VolumeA'2x25x1.8x10

o =225
VWumeB 7 =10x1x25 |
g o =250 !
Totgl volume = 250+225
T = 475m?
25
il . g
A
1.8
i) 225m=  9hours.
Therefore 250m3=250x 9
; 225
=10 hours

20.  Seegraph next page

Y, Y, Y Vs s Ys

2 | s ol 14| 20| 27

mid ordinate

Area= h(y, +y,*y, ¥, + ¥+,
==l(2+5+9+14+20+}27)
=77cm?

b) Error = 78cm? — 77cm?

=1g
% Error="/,,x 100
=12%/,% or 12.82

Bl

M1

Al

B2

Al

‘Revision K.

E Matl:c 1995777






A
>

' T
i :
30
-t -
T '
. B aRy ma 4
2O e :
L
15 : :
‘ : sy
10 : H ’
T :
? EascisiEiniin:
: T e
\ TELrL 1 £ 1,-5 - A Et‘ ::. 6
21 a) %/, =0atturning points b) ¥/,~4%-3
Hence 4x~3=0 and®, =7
g al Tieefore 4x~3=7 | Ml
Min. value =y at min. point ] _ ]
Hence at minimum point x =% M1 KR ) Bl |
andy="/ B2 subst. forx
=(4x-3)dx =6
y=2x*-3x+¢ subst. x =% .
c=1 v="Y, Hence'the point is (2.5,6] Al
Hencey=2x?-3x+4 L Al

v
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S T

-23. . ;Cos X0 '= 3/5

)  Hence TL=3
BL=4

| BT =‘7] 42 432 |

| =5
Revolving speed
.IBTI =[e-5
=3km/hr .

:

oy S

ST ek
VY 3 5

M1

Al

(). Cosx*=%;=06...

=53.1°

Bl
Al

D)

¥r

Resultant speed = }25+36

e = 50.2"
But©” 45 +x

x¥i5

Possible course = 135 -5
= 130°

{ Ml

Al




3 2 1 0 2 25 M2
-2x 6 2 0 -2 -4 -5
9 1 0 1.1 4 6.25
| i 27 | 8| 1] 0 8 | 15625
P 13 X3+ x2-2x C-12 0 2 0 0 8 16.88
PP HEE
, :
I +
i
1
1
R4 .
p X<2 M1
Al
b) (-2,Mand (1, 0) A2




